FHBEEREMNRARPFHEICONT

IE H BENENAPFHE (t-Co2)

HY v 5.87 [kL] x 2.32 [t-Co2/kL] = 13.62 [t-Co2]

KT 36 [kL] x 2.49 [t-Co2/kL] = 89.64 [t-Co2]
AR R R 5.23 [t] x 3 [t-Co2/t] = 15.69 [t-Co2]
BREAE 233.15 [FkWh] x 0.528 [t-Co2/FkWh] = 123.1 [t-Co2]

BE 242.05 [t-Co2]

BEESM 3 FE_RIURFRFEDNFINRBERESHIEIRBEXROREICONT
BETH 2 RENRS A PFHBEMI20t-Co20HIHAERTE, SRICBVTHATIEDEEEL TLE £,

( #HBIR RN )

AR SEERE T ES

Eh £T 36 Eh &T 36 Eh &T 3

( kWh ) (L) ( kWh ) (L) ( kWh ) (L)
4 A 13,721 4,000 13, 958 2,427 =231 1,573
5 A 14,172 6, 000 16, 391 1,844 -2,219 4,156
6 A 19, 643 5,333 19, 290 1,702 353 3, 631
1A 53, 337 4,000 33, 566 2,867 19,711 1,133
8 A 63,175 4,167 35, 421 2,267 217, 754 1,900
9 A 33, 300 3,333 28,053 1, 826 5,247 1,507
10 A 18, 959 4,667 17,010 2,426 1, 949 2,241
1 A 16, 427 4,000 16, 829 2,394 -402 1, 606
12 A 51,044 7,000 41,188 2,855 9, 856 4,145
1A 56, 170 4,667 44,438 2,769 11,732 1,898
2 A 42,176 7,333 40, 725 2,812 1, 451 4,521
3 A 32,371 6, 333 27,348 3,033 5,023 3,300
it 414, 501 60, 833 334, 217 29,222 80, 284 31,611

(&% 3 &)
it 414, 501 60, 833 334, 217 29,222 80, 284 31,611
(%) 100 100 81 48 19 52

X1 TROERE~TRBERE INFTH

T 3 FEDHIEE ( MEIRRER )

BN 80,284 kWh 0.528 42.390 t-Co2

KT 3E 31,611 L 2.490 78.711 t-Co2

&t 121.101 t-Co2

( AR ) [H#E)

ERRIFEENHIRE 47,000 kWh 0.528 24.816 t-Co2
REARBEENHIRE 113,605 kWh 0.528 59. 983 t-Co2
HERIHENHIRE -80, 321 kWh 0.528 -42. 409 t-Co2
HaimaR R LT mAELRE 31,611 L 2.490 78.711 t-Co2

g 121.101 t-Co2




